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B. Sc.  (Part - II) Examination, 2022
(New Course)
CHEMISTRY

Paper Second
(Organic Chemistry)

Time : Three Hours] [Maximum Marks:33

 


Note: Attempt all the five questions. One question
from each unit is compulsory.

1/ Unit - 1

1.  KOH 
 

P.T.O.
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a)  b) 

c)  d) 
The reaction of alkyl halide with KOH is known as-

(a)    Substitution  (b) Elimination

(c) Addition (d) Isomerisation

 NaOH 
 

Give the mechanism for the reaction of methyl
bromide with aqueos NaOH.

 
 

Explain why allylchloride is more reactive than
vinyl chloride.

 / OR

  

(i) 

(ii) 

(iii) 
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How will you obtain the following?

(i) Chlorobenzene from Benzene-diazeium chloride.

(ii) Chlorobenzene from phenol

(iii) D.D.T. from chlorobenzene

  

(i) 

(ii) 

Explain the following -

(i)  Hunsdiecker's reaction

(ii) Wurtz-Fitting reaction

2 / Unit - 2

2.  4KHSO  

a)  b) 

c)  d) 

Which of the following is framed when Glycerol is
heated with 4KHSO -

P.T.O.
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(a)   Acrolein (b) Dioxane

(c)  Formic acid (d) Oxalic acid

 

(i)  Na (ii) 5P C l

How does Ethyl alcohol react with the following?

(i)  Na (ii) 5P C l

 

(i)  

(ii)  

Explain the following-

(i) Oxidation cleavage of vicinal Glycol

(ii) Acidic nature of phenol

 / OR

  

(i)  

(ii)  

(iii)  
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How will you obtain the following from Glycerol?

(i) Formic acid

(ii) Nitro Glycerine

(iii) Acrolein

  

(i)  

(ii) 

Explain the following reactions?

(i) Reime - Tiemann reaction

(ii) Gattermann synthesis

3 / Unit - 3

3.   

a) 

b) 

c) 

d) 

P.T.O.
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Tollen's reagent is-

(a)    Ammonical silver Nitrate solutions

(b) Sodium potassium Tartarate solutions

(c) Sodium citrate solution

(d) Copper sulphate solution

 HCHO, 3CH CHO   3 3CH COCH 

 

Explain the relative reactivity of HCHO,

3CH CHO and 3 3CH COCH

  

(i)  


(ii) 

(iii)  Cu
 0300 C 

What happens when -

(i)  Acetaldehyde is heated with Fehling's

solution.
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(ii) Formaldehyde reacts with ammonia.

(iii) The vapours of Isopropyl alcohol is passed
over red hot Cu to about 0300 C

 / OR

  

Explain Perkin's reaction with its mechanism.

  

(i)  

(ii)  

Write short notes on the following-

(i) Clemmensen's reduction

(i) Rosenmud's reaction

4 / Unit - 4

3.  
 

(a)  (b)

(c)  (d)

P.T.O.
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Which of the following gives red precipitate with
Fehling's solution-

(a)    Formic acid   (b) Acetic acid

(c) Propionic acid (d) Butanoic acid

 
 

Explain the relative strength of Formic acid, acetic
acid and chloro acetic acid.

 
 

(i) 

(ii)  

(iii)  

Give the effect of heat on the following ( Give chemi-
cal equations only)

(i) Succinic acid

(ii) Malonic acid

(ii) Oxalic acid
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 / OR

  

(a)   (b)  

(c)   (d)  

The nature of Urea is -

(a) Neutral (b) Acidic

(c) Basic (d) None of the above

  

Write the resonance structures of Urea.

  

(i)   5PCl  


(ii) 


      (iii) 


P.T.O.
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What happens when-

(i)  Acetic anhydride is treated with 5PCl

(ii) Acetyl chloride is heated with sodium acetate.

(iii) Acetamide reacts with phosphorus
      pentaoxide.

5 / Unit - 5

5.  
 

Explain reduction of Nitrobenzene in acidic,
alkaline and neutral medium.

 
 

Write the Hofmann's method of the separation
of primary secondory and Tertiary amine.

 / OR

 
 

Explain why Ethyl amine is stronger base as
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compared to aniline,

  

(i) 

(ii)  

Write notes on the following-

(i) Gabriel - phthalimide reaction

(ii) Coupling reaction


